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Where iz Katargarh located 7
(A) Kumbhalgarh

(C) Garh Bithali

BECTE HEl (T 1

(A) PoETS

(C) 5 Sl

{B) Chittorgarh
(D) Mehrangath

B) Rris
(D) JwqaTe

Which place of Rajasthan is famous for Dabu Print 7

{A) Askola (B) Sanganer

(Cy Khandela (D) Nadol

o o e W @y BT % g wies v

(A) oM (B) wwIT

(C) @wEar (D) w=w e
Which of the following is not 2 sub-sect of Dadupanthis 7
(A) Khalsa (B) MNaga

(C) Khaki (D) Chandals
Pt & @ A Tl Su—aIE T8 37

(A) GraE (B) =

(C) wmal (D) 4@

Which ruler of Marwar was given protection against the Mughals by Maharana Raj
Singh ?

(A) Jaswant Singh
(C)y Anup Singh

(B) Ajit Singh
(D) Abhay Singh

meRTT T fiT ¥ W % few wmae @ e & Rreg s few 2 &
(A) wreE ©E B) o= fiE
(C) o Re (D) o Rig

Which Chauhan ruler fought the II Battle of Tarain in 1192 A.D. 7
{A) Ajay Pal Chauhan (B) Prithvirai Chauhan HI
{C) Arnoraj Chauhan (D) Vigrahraj Chauhan IV
Req e gmEs ¥ 1192 AD. ¥ qURT W gE0 g9 ol ¢

(A) SOTOURE SR (B) y&EmE 9mm I

(C) smiaw ' (D) Teeow dEm IV

[ PT.O.
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6  The 'Hela Khyal' folk music belongs to which areas of Rajasthan 7
(A} Sikar — Jhunihunu (B) Dausa — Sawal Madhopur
{C) Bhilwara - Chittor (D} Dungarpur — Banswara

T T W G U F ¥ ¥ T ¥
(A) ¥t - g (B) </ - @R Ayt
(C) et - e (D) $WQ - TwEE
7 Which State sent military help to Kota Mahharao during the freedom sitruggle of
18577
(A} Bundi {B) Karauli
(C)y Jhalawar (D) Jaipur

1857 % woaean aum § S mErae o wnee & e faw wen © &t wowe S oy v
(A € (B) wimn
{C) wmarg (I3} wmgY

8  Who was political and social woman activist of Ajmer who was exiled from Mewar
and Bundi States for her activities 7

{A} Kokila Devi {B) Shakuntala Devi Trivedi

(C) Anjana Devi Chaudhary () Satyawati Sharma

SIS O R GY Hive (emiTas UE SR st O R awey wiifeluel & s Vet
we g3 o= ¥ Pratew Remn mare
(A) miReeT I

(Cy oo 341 ey

B) e oA Py
(D) T gt

%  Who was the founder of Mehrangarh fort of Jodhpur ?
(A} Rao Jodha (B) Maharaja Jaswant Singh
{C) Maharaja Man Singh (D} Mahargja Gaj Singh
WEYL T HEOTG G B SRUTE BT A7
(A) = W (B) #ENen wuaa 4e
(C) weroen "W RiE (D) weroen T e

10 Where is the famous Jain temple built by Vimal 8hah situated ?

{A) Ranakpur (B) Pali
(C) Osian (D} Delwara
fmw s wa FRfe afre &9 Al el fam B0
(A) Ty i
(C) aft (D) <wewt
wse ] @ 3 [ PT.O.
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area of Raiasthan.
{B) South-eastern

The Vagadi dialect is spoken in the
{A) North-castern

(C) South-western (I} Western
I G TS W a7 ¥ ARl e R
(A) we-7d (B) -
(C) =for—uiad (D) uli=rd

On which day according to the vikram samvat calendar is Sheetla Ashtami celebrated ?
{A) Chaitra Krishna Ashiami {B) Chaitra Shukia Ashtami

{C) Falgun Shukla Ashtami (D} Kariik Krishna Ashtami

fomw dag T ¥ smEn doe el e R WA Ry &7

(A) ¥ pwn el (B) & yww wzh

(©) W g o (D) @i pon o

Pichhawai paintings belong to which style (school) of painting ?
(A) Kishangarh style (B) Bundi style

(C) Dhundhar style (I} Nathadwara style
fward famie Tea Raswer da o vl ¥7

(A) Tpome Sl B) €&

(C) e fe (D) Tugro 9l

Which one of the following Rajput dynasty does the Bijolian Inscription throw
light on ?

(A) Chauhan
{C) Rathore

(B) Pratihar I_
(D) Kachhaw

(A) e

(C) e (D) »ow=

Which of the following places was known as, ‘Taxmfaw_;a;ﬁ‘;fimgiglg the ancient period ?
(A) Khetrd (B) Ahar

(Cy Dariba (DY Ganeshwar

T e & Rreldias ¥ ¥ e wm el amedy % W@ W SR & e

(A) &l (B) wwE

(C) z8er (D) e

16
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Which temple has been declared as the Monument of National importance by the
Archaeclogical Survey of India of the Central Government 7

(A} Brahma Temple, Pushkar (B) Tripura Sundari, Banswara
(C) Ranakpur Jain Temples, Pali (D) Karnimaia Temple, Deshnoke

HE EET % WY aies adaw e Y e R ) ol wee o e oifve
frur %2

(A) wewr #ha, T
(C) Tompge 1 Hhay, TRl

B) g gl siem
(D) wyiwm gy, e

Which ruler of Jodhpur wanted to maintain his princely state as an independent unit
post independence 7

(A) Maharaja Hanuwant Singh (B) Maharaja Umed 8ingh

{C) Maharaia Bheem Singh (13} Mzaharaja Bhupal Bingh
AT % W R % A Y es oo R @ @ e g e a4 7
{A) ==Toen sHawa % (B) weren 9wy Rie
(C) wera 9 s (D) w=Eren yaw R

When did the "Nimuchana Incident” take place 7 N
(A) 14 May 1925 (B) 11% March 1930
(Cy 25 August 1935 (Dy 141 july 1929
SR e w9 gen o1 7
(A 14 =8 1925

(C) 25 ey 1935

By 11 = 1930
(D) 14 wwr 1929

When was Rajasthan Sewa Sangh' established ?
TR Yo 9 @ e g ad gl @ 7

(A) 1919 {B) 1509
(Cy 1929 (D) 1939

T T T T TS b S TSR b e R R R S 5 o

When was Ajmer-Merwara integrated into Rajasthan ? I
(A) 1 Nov., 1956 (B) 2 January, 1950 i
(C) 10 April, 1952 (D) 8 November 1948
AT W e ¥ we R gan ¢

(A) 1 7EET, 1956 (B) 2 wwadl 1950
€y 10 o=, 1952 (D) & ==y, 1948

[ PT.O.
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The famous 'Chitrashala’ is situated in the Garh Palace of

(A) Bundi (B Amber
(C)y Bikaner (D) Jodhpur
aRrs R % TG TwwEE § Reg R
A) 3 (B) @
(C) dmre (D) ey
Match the following :

{a) Tiktara {1} Percussion

{b) Algoza {2} Stringed Instrument
{c} Jhanjh {3) Aecrophonic Instrument
(g} Madal {4y Membranophonic
gl WY

(2) zoTTU () =7 =™

(by T (2) o T

(c) ¥ (3)y g aEm

(d) #=d (4) oG 9

(@ (o) (9 (4
Ay @ @ 1 &
® O @ & @
< @ & @ O
DR RECI IR

Who got the largest cannon of the world 'Jaivaan' made 7

(A} Mirza Raja Jai Singh (B) Sawail Jai Singh U
(Cy Maharajia Man Singh I {D) Sawai Pratap Singh
oy & wag <€ AW SmEmr’ G Reed BT SO T
(A) Frett oo o s (B) w9E W@ Rz 1
(C) wereen 7 w1 (D) o gam &

Which one of the following batiles has been called ‘the Marathon of the Histery of

Mewar’ by James Tod ?

{A) Battle of Haldighati (B) Battle of Kumbhalgarh
{C) Battle of Diver (I3) Battle of Gogunda

o o X T ¥ O T gm @ duR & Ihew @ S @R ¥ 7
(A) TREC & g8 (B) @S @ I8

(© Fexwgs (D) g B g5

The folk musical instrument 'Bhapang' is associated with which arca of Rajasthan 7
(A) Mewat (B) Mewar

(C) Merwara (D) Marwar

W T UH CAET R & e 89 o weeE ¢ 7

(A) Ham (B) e

(C) Ataen (D) e

wse | (@ 6
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26 The Girtwa Hills are found in the district -
{A} Dungarpur {B; Sirohi
(Cy Udampur (D) Bhilwars
Rrear werieal iy e A Rug ¥ 7
(A) ¥rE (B) U
(€ g (D) e
27 On the map of Rajasthan which one of the following is situated at the southern
most part 7
(A) Merta City (B) Sojat
{C) Marwar Junction (1D} Rajsamand
T & ast o Preafefea % § @ g et o few ¥?
(A)y wzm R (B) wm
(Cy wEE Sayv (I} Twew<
2%  Star - shaped sand dunes are found at :
{A) Osian (B} Lunkaransar
(Cy Pokran i (D} Suratgarh
T S WY w8 W E 7
{A) onfeat (B) TURBTONER
(C) dmpa (D) o ~
29  The water - divide of Rajasthan state is :
{A) Aravalii Hills (B} River Luni
{C) Sambhar Lake {13} Mukundara Hills
TR o W Sa-TINes 9 a1 ¥ 7
(A) STER TEaRT (B) v W&
(C) wwr A@iw (D) g0 oo
38 Which of the following river does not flow in Banswara district ?
(A} Chaina (B) Mahi
{(C) Anas (D) Som
e F @9 8 S ataeT e A 98 s by
(A) (B) =y
(C) o= (D) 9™
31 Badland topography is found in which basin ?
(A) Mahi (B) Banas
(C) Chambal {D) Luni
e e fhe 9T o u Wl v e
(A) = (B) == m
(C) a=w (D) el
ws6 | (@ 7 | [ PT.O.



32  Which of the following is not & River of Nagaur district 7 36 Which one of the following agriculture practice is not responsible for soil erosion 7

{A) Luni (BY Mentha (A} Plantation agriculture (B} GShifting agriculture
(C) lJojri () Alnia (C) lntensive farming {13} Step agriculture
Preffga & @ o 8 i R o Al ¥ Prerifte ¥ ¥ A0 G wERr TE srvew & Ry ResR @ 7
(A) T (B) (A) = Fhy (B) i By
(©) iy (D) wmrr | €y e Py ©) dem iy
33  Which one of the following pair does not correctly match ? f 37  Indian Wildlife Protection Act 1972 in Rajasthan was enforced in which of the following
Biver Tributary i year ?
(A) Banas —~  Dhund - W R e sfufn 1972 w0 wergm ¥ Rew ot amy fear e
(B) Mahi ~ Menal g (A) 1972 (B) 1974
() Luni — Jojri R () 1973 Iy 1975
(D) Sabarmaii -~ Majam b O
Fraifen ¥ & aF@ e 8 g 98 87 i 38 Bamboo is mainly found in :
7 | WS T N (A) Udaipur (B) Ajmer
(A} ST - @B . : {C) Pratapgarh (D) Baran
(B) =Y - fEm | G T HE IR S ¥ 7 ~
© T . L) R (B) et
(D) wrTRl - A (C) v (D) = |
34 Riverine soil erosion in Rajasthan is maximum in which river 7 3%  Khas' is produced specially at :
(A) Mahi (B) Luni - (A) Udaipur (B) Bharatpur
(C) Chambal (1)) Banas 5 {C) Chittorgarh (D) Dungarpur
T ¥ W S ORET geY wfus Rew T @ e 7 s g fsrwey i B Y
(A) AT B) = - (A) wEag (B) TR
(C) waw (D) e | () fdsme (D) FmE
35  Calciorthids ocour in which district of Rajasthan ? 40 Which one of the following is not a main reason of desertification in Rajasthan 7
(A} Udaipur (B) Sikar (A} Lack of moisture (B) Over grazing
(C) Jaipur (D) Sirohi {C) Urbanization (D) Dry farming )
T ¥ fpw R ¥ Sedielcire wrlh oy &7 frmifer & & woram ¥ wowdET W e e By w8 § 7
(A) TR (B) W - (A) % w B) @iy R
(C) TR (D) faer i (©) b D) = o

w56 | @ 8 [PTO. wss | @ 9 [ BT.O.
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To check desertification in Rajasthan, a ‘Green Belt' has been developed along which
canal ?

(&) Indira Gandhi Cana (B} Gang Canal

{Cy Chambal Canal (D) Bharatpur Canal

T § TEEH B GHR & Ve & g B e % e Bia s @ faew fEa
T R 7

(A) 3Ry =dr T
(C) wvgw 8L

(B) 7 78
(D) "RagT Y

Jaipur, Ajmer, Dausa and Tonk disiricts are covered under which Agro-Climatic zone 7

SO, TR, e ST dw B Rew i wwarg o % e o 27

(A} HI-A By Ii-B
(C) IV-A () IvV-B
What is "Walara' in Rajasthan ?

{A} Horticulture {B) Fishery

{C) Scientific Cultivation (D) Shifting Cultivation

T W O T B

(A) IVEFY (B) w5 ae

(C) e =l (D) wenawE SR

Which breed of sheep, in Rajasthan is popularly known as 'Indian Marino' ?
{A) Pugal (B) Chokhla

{C) Kheri {13} Sonan

g B BE W TR TR F OWEE 0 ¥ A 9w 30

&) T (®) e

© &b (D) €Y

The 'Granary of Rajasthan' receives water for agricultural from :
(A} Gang Canal (By Yamuna Canal

(C) Gurgaon Canal (I3) Bhakra Canal
TGN &1 YR S W 9 @y e ¥ feg ol @l waw d7
(A) T (B) e 7E%

(©) Teita W D) e 7w

[ PT.0.
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What is the name of rain water structure in inland drainage area of Shekhawati
region ?

(A) Well (B) Tank

{C) Kund (D) Nada

fEeRt & aweyawl &y § Mt w e e @ e I Y W e &7
(&) g (B) wrs

€ v (D) ==

The shortest National highway of Rajasthan does not connect which of the following
places ?

(A) Rewari (8 Alwar

(Cy Dharuheda (D) Manesar

UM &) 996 B U8 Toer! 5 ¥ @ frg wm @ 98 wiwer ¥?
(A) == B} @

(C) uree (D) wrREx

Palana region is famous for which of the following resources 7

{AY Lead (B) Lignite
(C) Copper (D} Ferrous

v e Poafeiea F ¥ 5w ga & e ofve §7

(A) ¥ (B) femze

(€) » (D) @

Which of the [ollowing oil fields, is not located in Barmer district of Rajasthan ?
(A} Mangla-I (B} Vijaya

(C) Saubhagyam (D) Saraswati

Frer 4 @ o ehe oW o &9 ToRaE & it R N Wl 37

(A) TI-1 (B) faurm

(C) ¥rarg (D) weerd

On which river Meja Dam was constructed ?

(A) Banas river (B) Kothari river N
(C) Parvati river (D} Mei river
oo §fe wmiar s ue faifa fear w7
(A) T8 2§ (B) @ery 58
(O odd =& (D) =9 W&
wis | @ i1 [ PT.0.
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During welding, voltage required to maintain arc is of the order -

{A) 15-45 volt {(B) 60-100 volt

(C)y 100-125 volt (DY 180 - 240 volt

I F <m, ond @l Y e % T Iwe & erarge BNl ¢ -

(A) 15-45 9 (B) 60-100 9w

(C) 100125 awe (D) 180-240

Long arc are generally formed by the voltage and current respectively -
{A} Low, Low {B) High, High

{C) Low, High {D) High, Low

AT TR S0 T b g s S Wl HEE S § -

(A) %, w9 (B) wumT, Sawy

(C) =W, W D) =, BH

The length of short arc is generaily considered as — ¢
(A) Less than 2 mm (B) More than 2 mm

(C) Upto 6 mm (I3) More than 6 mm

Wié ardh o) W Qe WF @ § -

(A) 2 PRt 9 B (By 2 Beil. ® wumr

(C) 6 Pl g% (D) 6 Bl § wen

The probiem of arc blow generally occurs -

(A) In AC (B) In DC

(C) In AC and DC both (D) Unpredictable

T W B GIRN GOTGaal B 6 —

(A) vt o § (B) fre amg ¥

(C) varsdl wro ve e g e 9 (D) ofe <81 ol O SeRan ¢

Ferrous and non ferrous metals can be welded in -
(A) A.C. welding and D.C. welding both

(B) D.C. welding

(C) A.C. welding

(D3} None of these

T T omE aigel @ e foed o 9§ 7
(A) wdL 3T v A SRRy T A

B) 4. 9l 4

(C) wdl. = |

D) T ¥ & N W

wss 1 @ 12 [ P.T.O.

56 In which welding device, movable parts exists ?

{(A) A.C. welding transformer
{(B) D.C. motor generator set

{C) Both A.C. welding transformer and D.C. motor generator set

(D) Gas welding apparatus

g T smm d Rdw s e b 0

(A) udL IRe siewdt
(B) 4L 9T SR 4

(C) o 3T Tigert it S Moy et ¥ oW

Oy g RSy Fusm

37  What should not be done during arc welding ?

{A) Use of earth clamps

(B) Making cable contact with il
(C) Use of hand shield

(D)) Use of gloves

= ¥ ¢ ond I & Sow v v wow w7

(A) afsw w9 yuiba oF Tl

(B) IReEn Suw = @ & 9ud § T whe

(C) =1 TR @ W HOm Wi
(D) @™ T\ e T

38 Earth clamps are made of -
{A) Zing
{(Cy Gun metal
o W e few ag B o e ¥ 7
{A)y s
(Cy ™ Few

N
(B) Steel
(I} Aluminium

(B) @
(D) wegfiem

59 What is wrong regarding the function of flux ?

{A) To stabilize the arc

(B) Make an isolated environment around the arc

(C)y To deposit slag on molten metal

(D} To change the shape of base metal

TS B HY H wEy ¥ 9w g 7
(A) owh o WE wET

(B) @ o o ot fiftse ¥ w1 evarw oo

(Cy Toaeh o1g U uTgHE o E

(D) g ug &1 empla ¥ uftesd &

60 Rays emitted during welding, which are hazardous for eyes, are - °

{A) Ultraviolet rays
{C) X-rays

IR uirn & IR ol & fon wheres B emeg AR & 0

(A) TURTH e
() way B

wss | (@

(B) Alpha rays
(D) Gama rays

(B) uew fem
(D) T feed

i3
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In low pressure welding -

{A) Pressure of oxygen and acetylene is low
(B) Pressure of oxygen is low

(C)} Oxygen is not used

(I3} Pressure of acetylene is low

e o e AT | -

(A) ol ud ofifd & @9 e BT §
(B) wifedliom =1 o9 T en &

(C) aifelie warT ! B

O) Rtdmwm s bR ea s

The pool of molten metal made due to high temper%éure and base metal is called -

(A} Fusion {B) Spatter

(C} Crater (D} Crack

e avEH & ere REel g O 9 39 W % 9 ¥ % weer § -
(A) T B) ¥R

(€) »X D) %%

What is the cause of porosity in arc welding 7

{A) Use of bigger diameter clectrode (B) Use of smaller diameter electrode
(C) Use of moist clectrede (D) Use of bare electrode

o IS F TR B B T
(A) &2 =g & goiRie o1 W

(C) o Toaers & W

(B) B 2ng & [uge & Gu
(D) = EEeE W A

Which type of welding is used to weld vertical thick plate ?

{A} Spot welding (B} Seam welding

(C) Submerged Arc Welding (SAW} (D) Electro slag welding
- AT gEren: HElR A9 O B 9% w07 § YgW B 8 7
(Ay Wy dfeT (B) @™ IRsT

(C) Frr omdh ARET (SAW) (D) o AR

Which defect will be induced if we increase the arc speed in MIG welding process 7
(A) Crack (B) Less penetration

(C) Porosity () Blow hole

MIG e whear § o o Y Sor & g @ T 99 e 7

(A) T (B) &® ¥&T

(C) femw (D) =i fos

[ PT.O.
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66 Which among the following is not a type of resistance welding 7
{A} Spot welding (B) Seam welding
{Cy Projection welding (D} Arc welding
Fraffes & € 29w ow whly IRET B vek A ¥ 7
(A) e afew (B) 9 Ihedw
(Cy e IR=T (D) e fEw
§7 Which defect develops in arc welding due to high current ?
(A} Blow hole (By Under cuts
{C) Porosity {2} Lack of fusion
T O § o AR ¥ I w A e g ¥ 7
(A) =T fisg (B) sioeg
(C) foem (D) wgo @ o
68 Which of the following can not be detected by magnetic particle test ?
{A) Hardness {(B) Voids
(C) Cracks (D) Slag inclusion
fermdl e w TORY ¥ Ta wE Rew w7 wwar ?
(A) warar (B) f&m
(C) = (D) rge eﬁ@@i
69 Thermit welding is not used in -
(A) Butt joint of thick pipes (B} Repair of railway tracks
(C) Repair of broken crank shaft (13} Fabrication of bhoiler tank
e 8 § fead Tt  offe Sfey &1 g =l @ ¢
(A) W% =9 & HT W (B) @9 vy W AT
(C) T $% wve F ToH (D) wigay dw o
76 Shielding gas used in GTAN is -
(A) Argon {B) Helium
(C) Mixture of Argon and Helluom (D) All of these gases
GTAN ¥ ofttes dw vy & & -
(A) Tt B) s
(C) aftw war ifvaw & R (D) ¥ gl i
71 Which is not used in gas welding ?
{A) Oxygen gas {B) Flux .
(C) Filler Rod (D) Flux coated electrode
T AT A B w ouge w8 e ¢
(A) Sfeie T (B) v
(C) Pewe 0= (D) wew g soaeE
ws6 1 @ 15
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72 Which gases are formed during burning of oxy-acetylene flame ? 77 Another name of seam welding i8 ¢

(A} Methane and Carbon monoxide (A) Mechanical weiding (BY Continuous spot welding
(B) Carbon dioxide and carbon monoxide {C) Brake welding (DY Moisture welding

{C) Ethylene and Propane A i wr ogmu wH T § 7

() Ethylene only (&) itym afew B wem g afEw

(A Pedw qwn wrE AEsEaEE
(B) @7 SEATFHEET TW BT HESTERTES

T

78%  Which type of welding amongst following is an example of plastic welding 7

i

(€) el qem Ao (A) Gas welding (B) Arc welding
D) Haw T (C) Resistance welding (D) Flectroslag welding
fr ¥ & -y SR goow T R R 7
7%  In GTAN, which material is added to increase melting point, current carrying and (A g e (B) ard afew
electron emission characteristics - . .
C) whadg afeET T AT
{A} Thorium or Zirconium (B) Lead or Zinc © )
{C) Copper or Tin (D} Copper or Zine ¢ 8 L. . . .
. ) : N 2 : 1 i 5y d ?
GTAN & e = A3 N T E 7 79 ir; ;Nh;;:i}s ;’es stance welding rotating eii; )oéi;ziz szz
g W%M; gé“aﬁiim” g de o (C) Seam (D} Projection
RIE R IS o ,
fre e AfEy ¥ ol s wgm@ B ¥ 7
A B} S
74 Which method is used for welding of grey cast iron 7 : ( C} m é}i el .
(A) TIG (B) MIG : ©
{C) Resistance welding (I3} Oxy-acetylene gas welding g 80 The f a - iding i
¥ o & e & o -G By SR e 7 € ormga;rresxsg{gwe ing is -
(A) TIG (B) MIG AT %"_i%g ! 5 g - o
© Ry A (D) sied-ARedeie i AT (A) H=KIRt (B) B =[KARt
(C) H=KIR% (D) H= KIrt?
75 In resistance welding, the electrode in spot welding is made of -
(A) Stainless steel (B) Copper 81 Thermit mixture used in Thermit weiding is -
(C) Mild steel (D) High speed steel ¢ § (A) Charcoal and Iron oxide (B) Charcoal and Aluminium
rr _ ‘ s {C) Iron oxide and Aluminium (D) Charcoal, Iron oxide and Aluminium
gy AR F gowe & BT ¥
) 95 3= (D) =% W & (A} T T¥ ITH A5 (B) www o gy __
._‘ (C) o iFeEs v gegfrim (D) THow, WREE SHdES U9 TegRge
76 The surface cracks in the weldment of non-magnet, non-ferrous alloys can be located E
by - ; 82 Thermit welding is a form of -
(A) UMlirasonic fest (B) X-ray test (A) Resistance welding {B} Fusion welding \
(C) Gamma ray test (I3} Fluorescent test (C)} Gas welding (D) Arc welding
YR T OWE TEE & IR § wdl TRl & gar AT ST O @ - aftie ARET B T E —
(A) wus= TR (B) wout (A) widy afe (B) wwaw T
(C) W Rex 2w (D) iy @ (€) Fa IR (D) o AT

wsé ] @ 16 [ PT.O. wse ] @ 17 | PT.O.
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84

85

86

87

88

wse ] @ 18

Pattern used in thermit welding is made of -

(A) Aluminium (B) Wax

(C} Wood (D) Mild steel
affe afe ¥ T e T B ¥ 7

(A) TwgferEs (B)

(C) was! D) I3 s9@

Which welding process is used in railway track ?
{A) Thermit welding (B) SAW welding

(C) MIG M TIG
Toiiwsdam-drafESrwm S a7

(A) offe AT (B) Froe AR
(C) MIG D) TIG /

In which welding electric current is not used 7

(A} Spot welding (B) Secam welding
{(C) Thermit welding (D) SAW welding
Frer % ¥ Pow Afew F Rege wro @ warT Y Re W § 7
(A) Ty afEw (By dm afeEw

(C) afiz IfEm (D) e IiRET

In which position plates are kept for making butt joint by eleciroslag welding ?
(A) Horizontal (BY Overhead

(C) Flat (D) Vertical

TR dfeT ¥ @l o few Refy ¥ vwwt gz e e 7

(A) s (B) RrmR

{C) T (D) ey

Name of the welding method in which arc is not used during welding process except
in starting -

(A) GMAW (B) GTAW

(C) Electroslag welding (D) Submerged arc welding

i wherer & e swel e aw % sl afe aiear % 4w s e Y B
(A} GMAW (B) GTAW

(C) soderarT aReT (D) P and IR

In which welding method heat is produced due to electric resistance of molten slag
to meit weld metal 7

{A) Electrosiag welding (B) Submerged arc welding

(C) Thermit welding (D) Ultrasonic welding
W%ﬁ%ﬁ%w%ﬁgﬁmaémmwmwﬁﬁaﬁﬁﬁm
T 7

(A) et afEw
(C) gffz afwen

(B) Few e IR
(D) et afeT

[ PT.O.
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89 In contrast to TIG following are not used in MIG welding -
(A) Wire feed mechanism (B) Cooling water supply unit
{Cy Gas supply unit (D) Welding gun
TIG &% gemr # MIG 3T o =0 vy 8 o 7
(A) IR HE HH (B) g aey wwE ge
(©) g word g (D) e ™
98 Which of the following is correct for MIG {(GMAW) welding 7
(A} Inert gas and consumable electrode
(B) Inert gas and non consumable eiectrode
() Reactive gas and consumable electrode
{I3) Reactive gas and non consumable electrode
frer ¥ @ MIG (GMAW) 3ken & Rim e @i ¢ 7
(A) Ffea w3 gawrll o
(B Fiwa g 9 sguerll soEeE
(C) afsw ¥m ¢ wued wRT
(D) wipg 79 9 aEae s
91 Following statement does not suit MIG (GMAW) welding -
(A} Deep peneiration (B) High metal deposition rate
(C) Spatter near weld area (D) High speed of welding
MIG (GMAW) i & frg Fret wem @) 78 & - A
(A) T ¥ (B) afte g 99 &
(C) ¥® &9 & ToE O (D) R B oy s=a
92 GTAW is -
{A) Gas Tungsten Argon Welding {(B) Gas Tungsten Arc Welding
{(C)y Gun Tungsten Arc Welding {ID) Gun Tungsten Argon Welding
GTAW & -
(AY g TTEA Sre IRkET Ry g dwmw o e
(C) W duws and Ay (D) T e emile Qe
83  Which of the following is correct for TIG (GTAW) welding 7
{A) Inert gas and consumable electrode
(B) Inert gas and non-consumable electrode
{C) Reactive gas and consumable elecirode
(D)} Reactive gas and non-consumable electrode
e H A TIG(GTAW) e & R de-wafr ¢ 7 .
(A) FReg v 9 guwrd Wi
(B) ~wg A9 9 sermer s
(€) ufew fm ¥ guwrll s
(D) wfew 9 F segsrll TS
wse ] @ 19
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94  Which gas is not used in TIG (GTAW) welding 7

95

56

97

wis ] @ 26

(A) Argon (B)Y Helium

(C) Oxygen (I3} Mixture of argon and helium
T ¥ G e TIG (GTAW) 3Rer & v wdl B 7

(A) emfs (B) @ifkmm

(Cy o (D) @t u Sfwam @ R

What is arc blow ?

{A) Deflection of arc from its defined path

(B} Pool of molten metal

(C) Difference between electrode and base metal
(D) WVanishing of arc

o S 9T BRI & 7

(A) o TifYe Ran o ond w1 Reew

®) Rk og W g

{C) s ot e ug & &

(D) omh ® g

Increasing arc length -

(A) Volage increases, current decreases
(B) Voltage decreases, current increases
{C) Voltage and current both decrease
{D) Voltage and current both increase
T Wl TR G4 ¥ -

(A) <eds ged &, urq &a g ¥

(B) &ww wH Bl ¥, w9 §

(C) dwew T urx & W BT

(D) 9w wd wia g1 e ©

R

Most suitable metal for welding is -

{A) Low alloy steel (B} High carbon steel
(C) Cast iron (D) Mild steel

AT & o wed Suge wig FE-W R 7

(A) P Ty uig TR (B) U= wEw 3O
(C) woal wrer (D) 73 7@

[ PT.O.

e,

58

59

106

104

(A) wifte Foiwes (B) 7 oEE
(C) wowge wam T8 oW D) o WS
wse ] @ 21 [ PT.O.

According to A.W.5, code, 4 digits are there starting with B, what do initial 2 digits
represent -

{A) Polarity (B) Welding position

() Type of flux covering (D) Tensile strength of weld metal

AW.S. Fs I goaes ¥ E ¥ wow 21w 4 ofw o B9 ¥, wuw 2 o i sei ¥ 7
(A) g B) T Rafy

(C) wows BT & TB (D) % g B T e

In submerged arc welding -

{A) TFlux costed electrode is used

(B) Work piece is covered with arc
(C) Arc is covered with Hydrogen gas
(D) Arc is covered with flux

P s s A -

(A) woe Wi e TYEd ERT §

(B) & €T o0 ¥ T G ©

(€) ok eEser W ¥ g W T

(D) &b =g € 7@ 0 8

The flux in submerged arc welding is in the form of -
{A) Paste (B) Coasting on the electrode

(C)y Granular powder (D) Inert gas
few o ST Y wer e s ewm § 7

(A & (B) svies W wim
(C) =R TEst (D) Fwy ™
Which type of ¢lectrode is used in submerged arc welding 7

(A) Coated clectrode (B) Bare Electrode
(C) No clectrode is used (D} Powder electrode

Py o fa N g veTe o el WO ¥ 7

S B




162 Which method 1s used for welding of brass 7
{A) GTAW (B} Oxy-Acetylene gas welding
(C) Shielded metal Arc welding (I} Al of these three methods
i @ AT % feg B Rl e o SR Y 7
{A) GTAW B) sTRI-TREEE Ty aReT
(C) uftchrm Jzw o dfew D) o =l o fatwl

103 Which flame is used in gas welding of stainless steel ?
{A) Carburizing (B) Ogxidizing
{C} Neutral (D) None of these
ST ©im B T RS ¥ Bt o wge A 7
(A) TRt ®B) i
(C) wwEm D) 57 ¥ BE 7

104 Which equipment is used in gas welding to reduce the pressure to supply working
pressure 7
(A) Pressure Gauge {B) Pressure Regulator
{C) Hose Pipe (D) Blow Pipe
g ARET W H—wT S BT, W TW W v ol @ 9T 9w g9 e ¥ 7

(A) 9T T (g wydY) (B) w® FoFeE
(C) ®= 9=y (D) =i ury
105 The correct angle between weld line and electrode during arc welding is kept -

{A) 900 {(B) 70-8¢°

(Cy 40-50° (D) 10-20°

sidh A & drow IF WET U Toeis & e W W% XET Wi ¢ -

{(A) 90° By 70-80¢

(Cy 40-50° (D} 10-20°

106 Example of Autogenous welding is -
(A) Arc welding
(C) Gas welding
T AT W1 GEET ¥ -
(A) ond IReT
(©) ¥u afe

(B) MIG welding
(D) Resistance welding

(B) MIG 3fen
(D) wioty afEn

wss | @ 22 [ PT.0.

Fan N

187
Fig. I
In figure - {, A represents -
(A) Fusion zone (B) DBase metal
{C) Heat affected zone (D) Pressure zone
EER I GG
(A) g (B) 7w ug
(C) wom oWl 8 (D) =g aw
108 Projection welding is a -
(A} Continuous spot weiding process “
{B) Process used for joining Tubes and Pipes :
{C) Mulii spot welding process
{D) Process used for joining thin wires
A (we) AT ¥
(A) Tag wie IRy wiwy
(B) Tyd o amy & are ¥ W W
(Cy ey wie ke wimar
(D) wow ard @l sied fg ugsr e
189 Which power scurce is used in welding of Aluminum by TIG welding method 7
(A) DC (B AC
{(C) Both AC and DC (D) Manual power
e @ 3R & fig TIG afeT ¥ @ aiva 9 wged fear W ¥ 7
(A) T g (B) weEd "
(C) vaamed wa @ Rw ara R (D) = kR
116 Which of the following is not a fusion welding ?7 .
(A) Arc welding (B) Gas welding
(C) Thermit welding (1D} Forge welding
fr & P! de AT A R 7 |
(A) o T (B) g afwn
(C) affe afew (D) e AR
wss ] @ 23 [ PO




111 Which type of polarity is used in TIG welding ?
{A) Direct Current Straight Polarity (DCSP)
{B) Direct Current Reverse Polarity (DURP)
{C) No consideration of polarity is {aken
(D) Both DCSP and DCRP
TIGaET d ga-d gar W A e sl & 7
(A) T grg Wl gaen (DCSP)
By R wim wiakis gaw (DCRP)
(C) gam o = 98 @ W
(D) DCSP ey DCRP 5=1

112 Which shielding gas is not used in Electro gas welding ?

(A) CO, (B) Argon

{C) Helium () Oxygen
st e e ¥ F-F dfoew T v € B sl 7
(A CO, (By @il

(C) <o (D) wede

113 Which shielding gas is suitable for welding of metals like copper or aluminium by
GMAW ?
{A} Acetylenc (B) Hydrogen
(C) Mixture of Argon and Helium (D) Carbon monoxide
GMAW 30 dier o uegfifrem 3@ sgell o afew & fog ougea i fw B @
e E 7
(A) rielr
(C) owh o St @

(B) sEgem
(D) wEw AFISEEs

114 Which defects are inspected by ultrasonic inspection ?
(A} Undercut (B) Spatter
{C) Surface porosity (D) Internal defect
ez Friwn ¥ fer @9t & ey fear SR w7
(A) wmited (B) Rewm
(C) wadr wiga (D) wiah® I

wse] @ 24 [ PT.O.

115 Which one is non-destructive test 7
{A) Tensile test
(C) Magnetic particle test
foe & ¥ oifrmsl whEwm § -
(A) T Tlie
(C) g & gl

(B} Bend test
{3} Impact test

B) €@ ahgw
(D) THEe glww

116 Internal defects of welding are tested by which method 7
(A) Visual (B) Magnetic particle
(C) Fluorescent dye penetrant (1) Radiography
e ¥ aiahe o9 © few By oo vl fer smn 8 0
(4) FRem B) g B
(C) whedifg &8 sl (D) egnmd

117 Liguid penetrant test is used for testing following -
{A) Surface defects (B} Hardness
(C) Brittleness {13) Tensile strength
Sy % 4 fiow 3q R ST Yo e Rem W R 7
(A) T8 99 (B) ®Horew
(C)y e (D) wFaar g

118 Which of the following is not a non-destructive test 7
{Ay Magnetic particle inspection
(B} Radiographic inspection
(C)y Ultrascnic inspecticn
(D) Tensile test
e ¥ 9 BE-w alig sfemen el ¥ 7
(A) g o1 Pl
(€Y Tows P

(B) Yy Priwe
(D) T a9y

119 Which test is used to detect surface cracks of non-magnetic material 7
(A) Magnetic particle test (B) Face bend test .
(C} Dye penetrant test (D) Ulirasonic test
s TRfuw & el T @ Uar W 3 B A ¥ wi-wr SR swged e ?

(A f=ifew wfaw 3w {B) ¥ ¥ =
() =r ¥z (D) srmEmE <
wse | @ 28 [ PT.O.



128 Which test is used for measuring the ductility of weld metal ?
{A} Ultrasonic test (B) X ray test
{C) Bend test (i3) Hardness test
v ug A oo B P ¥ @ Tees @ A wRT R D
(A) SR T (B) wew { wlaw
(C) & e (D) warar wlian

121 Which is not an internal defect of welding ?
(A) Surface cracks (BY Incomplete penetration
(C) Slag inclusion (D) Porosity
T § dw A iew Aw T E 7
(A) W ®) ot e
(C) wge arREgd D) T

122 Small globules of metal are scattered on work surface during arc welding, is called -

(A) Slag (B} Spatter

(C} Crater () Overlap

s AT ¥ ug & oE-ud dftveret $ e ¥ w wos o R weerd ¥ -
(A) w (B) &

(C) WX (D) Aferemgm

123 Example of pressure welding 1s -

(Ay Gas welding (B) Thermit welding

(Cy GMAW (1)) Resistance welding
arg RS W TAET ¥ -

(A) " aREw (B) uhiz aReEw

(C) CMAW (D) vy Ifa

124 Arc welding is also known as -
{A) Pressure welding (B} Plastic welding
{C) Non-pressure welding (D} Heterogenous welding
3 IS W T W g A I ST § -
(A) Tm i (B) gagm afew
(C) omm AT (D) fowaiy afesw

wis ] @ 26 [ BT.O.
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125 In resistance spot welding, the pressure is released -
{A) lJust at the time of passing the current
(B) Afier completion of current
(Cy After cooling of welds starts
(I3} During heating period
v Wie Aty ¥, 9w e W § -
(A)y o0 % WETE % 990 & WY
(B) & % T B ¥ 4w
(C) o7 351 8 & WW & 9
D) ™ @ 5 g F

126 In resistance welding, current and voltage are respectively -
{A) High Ampere, Low Voliage
(B) Low Ampere, High Voltage
(C) Both Ampere and Voltage kept equal
(D) Low Ampere, Low Voltage
shadty feT ¥ o 9w RS HEER T ¥ -
(A) we oemE, fe Qe
(B) e gedier, g Siwew
(C) iR ol dees g9 T SR §

(D) e ordm, ©eF aees .

« 327 Liguid or gas tight sheet metal vessels are produced by -

(A} Spot welding (B} Projection welding
{Cy Seam welding (D) Percussion welding

e W Ao e dem v e iy s R o ¥ 7
(A) e afeT (B) w&y iy
(C) wwmy IfEw (D) g SfeT

128 The melting point of the filler metal should be
base metals.
{A} Less
{C} No relation

than the melting point of

(B) More
(D} Always equal

AT § [ Uiy W S e Wige b e W BT T |
{A) @4 (B) ot
(C) & gy wE (D) w9 T

129 Submerged arc welding is generally done in following position - |
{A) Vertical (B) Flat
(Cy Overhead (D) All of these positions
e o AR e P A e e R S wr s § 7

(A) swEiER (B) wae
(C) frmd (D) & s o Rufet
ws6 1 (@ 27 [ PT.O.



138 Post heating in welding is done to -
{A) Reduce hardness and briftleness
(B) Increase hardness and briitleness
(C) Reduce toughness
(D) Increase cooling rate
FheET & s o e WO § -
(A) BIGTT TE WA BF T & 019
(B) worar 9§ WA 8 & R
(C) e & & & Y
(D) <=1 BN B o oW F W

131 Which is not preheated for final welding ?
(A} Aluminium (B) Brass

(C)y Copper (D) Mild steel
st AR FTT % Brg P o e R o ¥ -
(A) i (B) dw

(C) diw (D) w45 zom@

132 Due to which property of copper, it is preheated before welding ?
(A} High thermal conductivily (B) High melting point
(C) High expansion (D) High ductility
qtY ¥ Pre W & BT o8 968 BT | UEW THO B AU B ¥ 7
(A) T3 THY TRHA (B) <= WHH
) = 9w (D) T ol

133 Which defect will be induced if cast iron is welded without preheating ?
{A) Porosity (B) Undercut
{C) Blow hole (D} Crack

o A ¥ T WE ®0 IeS TR 9GO 1 S e 7
(A) fomer (B) @weime
(C) = fos (D) =TT

134 'E 6013 coding of ¢lectrode represents -
(A) IS (Indian Standard) (B) ISO (International Standard)
(C) AWS (American Standard) (D) BS (British Standard)
'E 6013' yeas & smieT geif s ¥ -
(A) IS (undm W) (B) ISO (sratir )
(C) AWS (emiii®mw Are) (D) BS (e #rrs)

wse ] @ 28

| BT.O.

135 The tip of the electrodes used in spot welding is made of -
{AY Gun metal (B} Brass
(Cy Copper (D) Alaminium
e AT i RS W m ag e e aw ¥ ¢
(A} T e (B) w
(C) dter (D) uepfrag

136 In autogenous welding -
{A) Filler metal and base metal are of same metal
(By Filler metal and base metal are of different metais
{C) No filler metal is used
(D) Copper is used as filler metal
wwg Afen ¥ -
(A) q@® urg 9N gea g U ¥ uig & wd ¥
(B) & wig oYy Oy BT arget & B ¥
(C) &% & 9ig W H T A
(D) % B & w9 Y e w9 o ¥ |

137 Which of the material has highest weldability 7
(A) Cast iron {B) Stainless steel
(C) Low alioy steel (D) Low carbon sieel
wA-g Rfaw & gl Isiem ¥ 7
(A) wwal W
(C) Fr= e '

(B) wwew @ -
(D) Fre o B

138 The strength of properly welded joint as compared to base metal would be -
{A) Less (B} Same
{(C) More (D) Unpredictable
T I@ ¥ Y W e wie @ 9 e 9ig & gen o s -
(A) &9 (B sUsY
(C) wumr (1) war =8 e w1 gaE

139 Welding ioint is -
(A) Temporary method
{C) Semipermanent method

{B) Permanent method
(D) None of these

afew wis g ¥ -

(A) orard iy (B) ey fafy

(C) oreleomdy Rty D) = T o T
140 Which gas should be opened first in gas welding 7

(A) Oxygen (B} Acetvlene

(C) Both simultancously (D} Any of the two gases
g ST I B Y B g mS @R iy

{A) wade (B) wfaeem
(C) I i () o= e Y B 0
wss | @ 29 [ PT.0.
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145
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In left ward welding, how much angle head of blowpipe makes with the weld plane 7
sl AT ¥ WOEY # S, ¥ ¥ o0 § Teaw B WA ¥ 7

(A) 20°-30° (B) 40°-50°

(CYy 60°-70° (D) 80°-90°

In gas welding, acetylene is prepared by adding -
(A) Sodium carbide and water

(B) Calcium carbide and water

(C) Sodium chloride and water

(D) Sodium chloride and calcium carbide

S AR wwe ¥ CRIREW R SRR -

(A) \fewq BiEEs AT @ wy et

(B) FfmaT wefre ot o & KGR

(C) ez wwEe & @ EARLGIETY

(D) wifsam FwrEe o wie FEEes B e

In oxy-acetylene gas welding, the temperature of oxidizing flame is -
m—@wmmﬁmwwwm% -

(A) 4000°C (B) 3300°C

(C) 7600°C (D) 1000°C

Which gas cylinder is of red colour 7
(B) Acetylene cylinder
(D)) Hydrogen cylinder

(A) Oxygen cylinder

(C) Nitrogen cylinder

s 3 pw fersT B T1 W e ¥ 7
(A) SiFEnE RwvEt

(C) ez Rmost

(B) waif Reest
(D) wEeme RSt

Which equipment is used to mix acetylene and oxygen in gas welding 7

(A) Pressure regulator (B) Blow pipe

(Cy Gas cylinder (D) Hose pipe

e AR & AR @ ol B B F) % RGBT ST g E 7
(B) =il wEd

(D) T ey

| PT.O.

146 Which gas should be stopped first in blow pipe after completion of gas welding ?
{A) Acetylene (B) Hydrogen
{C) Oxygen (D) Carbon dioxide
%WWWW@W%W%@@%WW?
(A) et (B) wmEge
() aifeies D) wET SRS
147 Which type of flame is used in gas welding of brass and bronze ?
(A) Neuiral (B) Carburizing
(C) Oxidizing (D) Nome of these
S @ HET B e AT ¥ He-@ o vEEe e w7
(A) SeEmElE B) wyiwTs
(C) effadieTid (D) = & & =&
148 Oxy-Acetylene gas welding is a type of welding -
(A} Resistance welding (R} Pressure welding
(C) Fusion welding (D) Arc welding
ste-Rrdee fra e Rbw T @ ARST ¥
(A) wRrgy T (B) =§ afE,
(C) T A (@) o AT
149 In straight polarity -
{A) Current changes its polarity continuously.
(B) Base meial is connected to +ve terminal.
(C) Base metal is connected to —ve terminal.
(D) Oxygen is used
ey geen # -
(A) wie wmar fan s ¥
(B) @ =g # +ve foX & we1 o 7
(©) A5 o W -ve RIY § ST WA F
(D) oifediort & 76 e o §
156 How much portion of total heat is developed at positive terminal in DC arc welding 7
WWWW%@W@W%WMWWW% ?
1 2
Ay 3 ® 3
© = ®) 2
& 4
wss | @ 31 [ BET.O.



